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1. Выберите правильный вариант множественного числа для слова child
1). childs 
2). children 
3). Childrens

2. Подберите нужное относительное местоимение.
       This is the book ______ I told you about.
1). which 
2). who

3. Подбери равнозначное по смыслу предложение:
Brisbane is the third biggest city in Australia.
1). Brisbane is Australia third biggest city.
2). Brisbane is in Australia third biggest city.
3). Brisbane is Australia`s third biggest city.

4. Вставьте необходимый предлог.
Passengers got to St Petersburg ___ train.
1). in 
2). by
3). On

5. Вставьте артикль, если необходимо.
There is ___ tall building at the end of the street.
1). a
2). an
3). the
4). –

6. Закончите предложение, вставив нужный модальный глагол 
________ you like to go for a drive this weekend?
1). should
2). would
3). need
4). might

7. Выбери правильную форму глагола.
He _________ at school yesterday. 
1). were
2). was
3). has been
4). have been

8. Выбери правильную форму глагола.
I ____________ English words at this moment. 
1). am learning
2). learn
3). will learn

9. Выберите нужное сопутствующее слово, чтобы закончить предложение.
We have _____________________ done this work, you may check it.
1). tomorrow
2). already
3). ago
4). Usually

10. Поставьте глагол в правильную форму пассивного  залога.
The words “I love Olya” _______ on the tree.
1). has been cut
2). have been cut
3). have cut

11. Закончите предложение, употребив инфинитив или герундий.
I enjoy _________ children`s faces. 
1). seeing
2). to see

12. Выберите подходящие глаголы для III типа условно- придаточного предложения, когда условие полностью нереальное.
I didn`t see Jack yesterday. If I ______him, I ________ him about the party.
1). saw, would tell
2). see, will tell
3). had seen, would have told

13. Выберите правильный глагол :
By the time I ____40, people will invent good filters for plants and factories.
1). will be
2). am
3). would be

14. Выберите правильную форму глагола.
 	I___________ English for 5 years.
1). have  learnt
2). have been learning
3). learn

15. Употреби правильную конструкцию:
Liverpool is a sea port and has a good football team, so Rod wanted to become___ a sailor ___   a footballer.
1). neither, nor
2). neither, or
3). either, or
4). either, nor


16. Выбери необходимую по смыслу часть речи.
  	It`s really very ______ to be in Russia.
1). excitement
2). exciting
3). excited

